nWB '9 5 ” System

Game and System author: Wojciech Zalewski
Cover: Arkadiusz Wrébel
Map: Wojciech Zalewski
Translation: Roman Mekicki

Playtest: Roman Mekicki, Barttomiej Batkowski,
Szymon Kucharski, Jan Kopczyk,
Maciej i Grzegorz Rygalscy, Maciej Sarnacki,
Krzysztof Supruniuk, Tomsz Ceynowa

Publisher: Taktyka i Strategia

www.taktykaistrategia.pl







Table of Contents

1.0
2.0
3.0
4.0
5.0
6.0
7.0
8.0
9.0
10.0
11.0
12.0
13.0
14.0
15.0
16.0

BasSiC INfOrMAtiON ..c.ueeiiiieeiee ettt e e s e s bt st e e sre e e sanes 3
PRases @Nd TUMNS ...c..viiiiiieiee ettt ettt ettt e st e e st e bt e e s abe e sbee e sabeesaseeesnteesareeennnes 7
IMOVEIMENT ...ttt e e e s a e e e e s s s nare e e e e e s 8
Z0ONE OF CONEIOL...eiitieieeteeeee ettt sttt et e b e sae e sme e et e enee s 9
(60T 101 o -1 ST OT PP UT PRSP 10
Y ] 1 =T o PRSI 16
(2o 1) (o [ o IOV P PR UPPOTOPRTOPRRINt 19
AT UNIES <ottt e st e e s ettt e s et e e s eab et e e s s re e e e s s nreee e snreeeesanrneeeeanee 21
[ I<ETo Lo TUF: [ =T o (= [ ) U 24
U] o] o] VSRR 25
REINFOICEMENTS ...ttt st et sae e st es 27
SErateBIC MOVEMENT ittt e e e e s s st e e e e e s s s s saabaaeeeeeeesnnas 29
Tactical CONCENTIAtION. ....iiiiiieiiieriee ettt ettt e st e e sab e e sabeesbeeesabeeenns 29
2T o T~ TSRS 30
Yo TTol =1 U L 11 P 31
LY\ 1 14 VSRR 32



1.0 Basic Information
[1.1] Map

Map with dimensions 40 x 28 inches covers area where the battle was fought at the 1942
and 1943, hills, mountains, rivers, streams and roads.

In order to play the game comfortably there is hexagonal grid that divides the map into
fields called hexes. Each hex has unique number which allows to easily defining unit’s
position on the map. Each hex represents ~3 kilometers (~1.86 miles).

Legend for each terrain feature can be found in TERRAIN TABLE at the end of this rule
book.

[1.2] Counters

Game provides three types of counters:
- units
- field fortifications
- auxiliary counters

O«

Field Disorganization Supply
Fortification marker marker

Mask marker

Units

Some scenarios may contain different types of counters which are described in the scenario’s
notes.

Each unit counter shows all its characteristics relevant for the game play. At the top there
is unit name/number (on the left) and unit’s alignment (division, corps or army) name/number
(on the right). In the middle there is unit size and icon representing unit’s type. At the bottom
there are Strength Points (in case of artillery units there are two values) and Movement Points
values.

Unit name /
number

Unit name /
number
Black Star

(special ability)

Unit
alignment

Unit
alignment

Unit type Unit type

Unit size Unit size

Movemant Strength Points
Points (in attack)

Movement

Strength Points
gt Points

Strength Points
in )

Most counters in the game are printed on two sides. If unit has full strength printed on the
top side of a counter and weaker strength on the reverse then it has 2 Combat Efficiency
Levels (CEL — see 1.4 Definitions). Unit counter that is printed just on top side has 1 CEL.



Artillery units (except mechanized artillery) has only one CEL even though there often is
a reverse for their counter This is due to the fact that artillery counters reflect transport and
combat setup of the unit (see 6.2.2).

Mechanized artillery unit, due to its maneuverability, has characteristics of regular units
and usually has 2 CELs.

Reducing a unit (loosing 1 CEL) is flipping a full strength unit’s counter onto weaker
side. Unit that loses all its CELs is eliminated from the game.

counter top counter back
(reverse)

[1.3] Types of Units
For movement purposes units are divided into:

Motorized Units

Mechanized (units equipped with tracked or half-tracked vehicles):

Note that each non-mechanized artillery unit is treated as motorized (trucked) unit even if there is no truck symbol on the counter.

Non-Motorized Units




Unit size symbol allows for easy counter identification:

Unit Size

Division (-D)
XX

Brigade (-BR)
X

Regiment (-R)
i

Battalion (-B)
I

Note: on rare occasions (due to unusually great strength) there may be company
counters in the game — company symbol is -C’ and it is marked with single bar (I).

In scenario setup units are described by their type and size (e.g. INF-R, ARM-BR). In obvious
cases (complete infantry division or complete Soviet corps) size appendix is omitted (e.g. INF
for all division units or CAV for all Soviet cavalry corps units).

[1.4] Definitions

Reflects unit’s strength/morale/training/experience and other

i => . . .
Strength Point (SP) factors influencing unit’s combat power.
Movement Point (MP) - Reflects unit’s maneuverability. It limits unit’s movement
range.
Zone of Control (ZOC) => Marks unit’s ability to influence its neighborhood

Combat Efficiency Level

— - : Rl . , _
(CEL) Marks unit’s hardiness - ability to fight and sustain loses

Marks unit’s supply level and its influence on unit’s morale.

Out of Supply (OoS) = The higher OoS level the bigger chance for unit’s surrender.

[1.5] Combat Ratio

Combat Ratio (CR) is column in COMBAT table where combat result is to be looked up
after 2 dice (2K6) roll.

CRis calculated as follows:
1. Attacking Player units’ SPs are divided by defending Player units’ SPs which, after
rounding (see [1.7]), yields initial combat ratio.
2. Initial combat ratio is modified by both Players’ Combat Modifiers (see [1.6]) in order
to calculate final combat ratio.

Example:
Two infantry units, having 4 SPs each, attack enemy infantry unit with 5 SPs. Total attacker’s

strength is 8. Total defender’s strength is 5. Combat ratio is 1.6:1 and after rounding 2:1.
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[1.6] Combat modifier

Combat Modifier (CM) is column shift applied on initial CR in order to obtain its final
value. Both attacking and defending units can gain CMs through various factors like terrain,
fortifications, unit’s special abilities and tactical concentration.

Defender’s CMs lower initial Combat Ratio (shift initial CR column in COMBAT table to the
left) while attacker’s CMs increase initial Combat Ratio (shift initial CR column in COMBAT

table to the right).

2 Combat Modifiers for defender 3 Combat Modifiers for attacker

{ | COMBAT TABLE *
dice roll 1:4 1:3 9:1 10:1

1:2 1:1 2:1 3:1 4:1 5:1 6:1 7:1 8:1
2 [ -1/-0 | -1/p10 [ -1/D1D | -1/D20 | -1/D3D | -1/03D [-1/D3D | -1/D4D | -1/D4D | -1/D4D | -1/D4D | -1/D5D | -1/D5D-1 |
| 4 | Ate/- | e/ | /b1 | /D1 | /D2 | /D3 | +/D3 | /D3 | ¢/D3 |/D4-1|e/D4-1]|+/D4-1| /D41 |

¢ [ ata/- | awe/- | a/a [ yor | o2 | /o2 | /o2 | /o3 | /o3 | /o3 | /o3 | -/oa | /o4 |
& |a22/a | ma/- | A/- | /4 | -/or | /o2 | -/o2 | /b2 |-/D2-1|-/03-1| -/D3 |-/D3-1| -/03 |
10 | A22/- | A22/- | A21/1 | A1/- |-1/D1-4[-1/D14]1/D2 | -/D2 | -/D2 | /D2 | /D2 | +/D3 | -/D3 |

12 | A2D-2/-1|A2D-2/-1|A2D-2/-1|A2D-1/1| D-1/-1 | D-1/-1 |D-1/-1|D-1/D1|D-1/D2|D-1/D2|D-1/D2|D-1/D2| D-1/D2

Modifications: terrain, HQ, tactical concentration, units' abilities

Maximum and minimum Combat Ratio from COMBAT table can never be exceeded.

Example:
a) Attacker units’ total strength is 8 and they have 3 combat modifiers. Defending units’

total strength is 3 and they have 1 combat modifier.

= Initial combat ration is 8:3 => 2.67:1 => 3:1.

= After attacker’s CMs are applied combat ratio increases to 6:1.

= After defender’s CMs are applied, final combat ratio is set t0 5:1.

b) Attacker units’ total strength is 18 and they have 7 combat modifiers. Defending unit

strength is 4 and it has 2 combat modifiers.

= Initial combat ration is 5:1.

= After attacker CMs are applied combat ratio is 13:1.

= Combat Ratio cannot exceed maximum from COMBAT table (10:1) therefore it is

reduced to 10:1
= After defender’s CMs are applied, combat ratio is set to 8:1.

Players must use all combat modifiers gained from terrain, fortifications and tactical
concentration. Use of unit’s special abilities (see 15.1 and 15.4) is voluntary.

[1.7] Rounding

Any integer number division is rounded up.

Example:
a) If unit with strength of 1 SP should have it halved, its strength is still counted as 1.

b) 5 divided by 2 is 2.5. After rounding it is 3.

For combat ratio calculations any initial CR below .5 is to be rounded down and any result
above or equal to .5 is to be rounded up.



Example:
a) Attacker has 3 SPs while defender has 2 SPs. Combat Ratio is 3:2 => 1.5:1 => 2:1.

b) Combat Ratio 6.49:1 is to be rounded to 6:1.
[1.8] Dice Rolls

Game has standardized way of naming dice rolls. In the system Players use 6-sided dice and
throughout game play may be required to roll it.

Player may be required to roll dice several times and sum up the results (instead of rolling just
one dice Player(s) may have two or more and roll them at once © )

Example:
a) One 6-sided dice roll is described as 1K6

b) Two 6-sided dices roll (with summing up the results) is described as 2K6
c) Andso on...

2.0 Phases and Turns
[2.1] General Rules

2.1.1 Game play in WB95 system is divided into turns. Every turn allows or obliges players
to make certain actions (movement, attack, supply check etc.).

2.1.2 All actions in a turn are grouped into phases. Every phase allows for given set of
actions only. Performing an action outside correct phase is prohibited.

2.1.3 Each turn is finished after all Phases have been completed.

2.1.4 Players cannot change order of phases. A phase can be omitted if there are no
mandatory actions and both players choose not to perform voluntary ones.

2.1.5 After turn has been completed, players move TURNS (ETAPY) counter
by one position and start over a new turn.
2.1.6 One turn represents 1 day of a battle.

[2.2] Phases

Player with initiative (moves first) — player A.
Player without initiative (moves second) — player B.

Phase 1 — Air Phase
During this phase both Players can assign air missions for their air units (see 8.0). Players
should choose location of air counters secretly to reduce the chance of enemy counter
actions (see 8.1.8).

Phase 2 — Artillery Barrage of Player A (see [6.5])
If scenario allows, Player A can conduct artillery barrage on enemy units.

Phase 3 — Movement of Player A (see [3.0])
Player A can move his units or build field fortifications. His reinforcements can enter the
map. Instead of movement units can be selected for Strategic Movement (by covering
them with ‘Strategic Movement’ marker)

Phase 4 —Attack of Player A (see [5.0])
Player A carries obligatory (see 5.1.3 and 5.1.4) and voluntary attacks. Order of combat is
chosen by Player A, but Phase can end only when all mandatory attacks are made.
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Phase 5 — Strategic Movement of Player A (see [12.0])
All Player’s A units that are covered with ‘Strategic Movement’ marker can move.
Player A can also enter reinforcements on the map.

Phase 6 — Supply Phase of Player A (see [10.0]) — following actions are made:

1.

2.
3.
4

Player A must trace line of supply to all his units. Unit that cannot be supplied must
be covered with marker reflecting their out of supply (Oo0S) level.

Unit that is out of supply must undergo surrender test (see 10.2.6).

Supplied units span control over hexes within their Zone of Control (see 4.3).

HQ may start bridge building.

Phase 7 — Air Phase
Analogous to Phase 1.

Phase 8 — Artillery Barrage of Player B
Analogous to Phase 2.

Phase 9 — Movement of Player B
Analogous to Phase 3.

Phase 10 —Attack of Player B
Analogous to Phase 4.

Phase 11 — Strategic Movement of Player B
Analogous to Phase 5.

Phase 12 — Supply Phase of Player B
Analogous to Phase 6.

3.0
[3.1]

3.11

3.1.2
3.13
3.14

3.15
3.1.6
3.1.7
3.18
3.1.9
3.1.10
3.1.11

3.1.12

Movement

General Rules

Players can move their units during Movement Phases (regular movement — Phases 3
and 9, strategic movement — Phases 5 and 11), and Combat Phases (pursuit and retreat
— Phases 4 and 10).

Retreat and Pursuit has additional limitations — see [5.3] and [5.4].

Order of units to be moved during any Movement Phase is Player’s choice.

Unit cannot “overleap” a hex during movement. There must be continuous path of
hexes between unit’s start hex and unit’s target hex.

Players units’ movement and/or maneuvers during Movement Phases are limited by
each unit’s MPs.

Unit does not need to use all its MPs, but any “saved” MPs do not carry over to next
turn.

Unit cannot pass its MPs to other units.

Unit cannot enter hex occupied by enemy units.

Any number of units can move through a hex.

Unit can move through a hex occupied by friendly units regardless of stacking limits.
Cost of entering a hex for a unit depends on unit type and terrain on the hex. All
modifications are listed in TERRAIN INFLUENCE table.

Terrain costs are cumulated

Example:
If, for mechanized unit, cost of entering forest is +1, cost of crossing a stream is +2

and base cost of clear terrain entry is 2 MPs then such unit will pay 5 MPs for
entering a hex with forest through a stream.



3.1.13 Maximum cost of entering a hex cannot be higher that unit’s initial MPs (number of

[3.2]

3.2.1
3.2.2

4.0

MPs unit has at the beginning of Movement Phase).

Example:
a) Mechanized units starts movement phase with 7 MPs. Unit can always enter

adjacent hex, even if cumulated cost is higher than 7. If cost of entering adjacent
hex was 9 MPs unit can enter the hex.

b) Infantry unit out of supply (normally having 4 MPs) starts Movement Phase with
2 MPs. If cost of entering adjacent hex is 3 MPs the unit can still enter the hex
without increasing its OoS level.

Note: The intention of the rule is that unit is always able to move by at least 1 hex.

Stacking

After the end of any phase there cannot be more than 8 CELs on one hex.
Each Headquarter is counted as 1 CEL for stacking limit.

Zone of Control

Zone of Control reflects unit’s ability to influence its surroundings which denies enemy to
move freely through such area.

[4.1]
411
4.1.2

413
414

415

4.1.6
[4.2]
421
4.2.2
4.2.3
4.2.4

4.2.5

General Rules

ZoC spans onto unit’s all adjacent hexes.

All regular units have ZoC.

ZoC does not extend through big rivers.

ZoC does not extend on terrain impassable for unit
of given type.

Example:
Motorized units do not influence adjacent swamp

hexes. They don’t have ZoC on such hexes.

There can be any number of ZoCs on one hex (both
friendly and enemy). Many ZoCs on one hex means
only that this hex is influenced by many units.

ZoC allows hex control.

Movement Influence

Unit that entered enemy ZoC must stop (cannot use its MPs in this Movement Phase
any more).

Entering enemy ZoC does not cost additional MPs.

Moving in ZoC of single unit is possible only during pursuit.

During Movement Phase a unit can leave enemy ZoC and enter other (or reenter the
same) enemy ZoC.

Unit can move directly from one enemy ZoC into different enemy’s ZoC.



4.2.6 Leaving enemy ZoC cost 1 MP.
[4.3] Hex Control

Hex control allows capturing game scenario objectives like towns or other important hexes.

4.3.1 At the beginning of the game Players control all hexes within their territory (behind
frontline).

4.3.2 Player gains control of enemy hex when his unit is on the hex at the end of Player’s
Supply Phase.

OR

4.3.3 Player gains control of a hex if his unit’s ZoC is influencing the hex and there are no
enemy ZoCs influencing this hex at the end of Player’s Supply Phase.

4.3.4 Unit that surrendered during given Supply Phase does not provide control for any
hexes.

4.3.5 Only supplied units can control adjacent hexes (in their ZoC).

4.3.6 Enemy ZoC (even of O0S units — see 10.2) denies control of an unoccupied hex (so if
hex is unoccupied but in ZoCs of opposing units, neither Player controls it).

5.0 Combat

Direct combat between units is resolved during Combat Phase. In this phase unit can be
attacked by regular units supported by aircrafts and artillery. Air attacks can be carried in
Air Phase (by aircrafts only).

[5.1] General Rules

5.1.1 Unit can fight only once during Combat Phase

5.1.2 Regular unit can attack enemy unit on adjacent hex only.

5.1.3 Unitin enemy ZoC must attack unless it is in fortifications (see 7.1.11 and 7.2.5).
5.1.4 Enemy unit having attacking Player’s units in its ZoC must be attacked.

5.1.5 For single combat either attacker or defender must be on one hex.

Example:
a) American armored regiment unit enters ZoC of German infantry unit. In nearest

Combat Phase American unit must attack (but not necessarily above mentioned
German infantry) and German unit must be attacked (but not necessarily by
American armor).
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5.1.6
5.1.7

5.18
5.1.9

5.1.10

[5.2]

5.2.1

b) Soviet mechanized brigade enters hex adjacent to Romanian cavalry which is on
swamps. Soviet ZoC does not extend onto swamps but since Soviets are in
Romanian ZoC the cavalry must be attacked. Alternately — Romanian cavalry
would not need to attack Soviets as its ZoC does not reach them.

¢) Unit A has 3 enemy units (1, 2 and 3) on 3 adjacent hexes in its ZoC. Units 2
and 3 are entrenched, while unit 1 is not. Unit —— :
1is in ZoC of another unit B. In this case unit
1 must attack (5.1.3) which means that both
units A and B must be attacked (5.1.4).

Following scenarios are possible:

= Unit 1 attacks both units A and B. Then
units 2 and 3 cannot participate in attack
(because either side of a combat must be
on one hex).

= Unit 1 attacks unit B only - then there
must be an attack made on unit A made by
either unit 2 or 3 (or both) even though
they are entrenched.

Attacking Player chooses order of the attacks.

Attacking Player chooses when Combat Phase finishes (decides on voluntary attacks),
but not sooner than 5.1.3 and 5.1.4 are satisfied.

Player owning the units decides which of his units take losses inflicted during combat.

Attack on HQ alone on hex is always resolved at maximum Combat Ratio (rightmost
column) in COMBAT TABLE. HQ cannot retreat in such combat and sustain loses
according to 5.3.7.

Towed units (towed artillery, anti-tank (AT), anti-aircraft (AA) guns etc.) cannot
attack in direct combat.

Combat Procedure

Combat procedure is as follows:

a) Attacker selects attacking unit(s) and their target(s).

b) Both sides total SPs and combat modifiers are counted.

¢) Combat ratio is calculated (see [1.5])

d) Combat modifiers are applied (see [1.6]).

e) Two dice (2K6) are rolled.

f) Intersection of final combat ratio column with row respective to dice roll
provides combat result. It should be applied before g) in following order: first
loss of SPs, than retreats and pursuits if any.

g) Any rolls for disorganization are made.

Example:
German armored division attacks 2 Soviet cavalry brigades that are in the woods

(not fortified). German total strength is 17 SPs. Soviet total strength is 8 SPs.
Germans have 1 CM for Tactical Concentration and 1 CM for black star modifier (2
in total). Soviets have 1 CM for woods.

For this combat initial combat ratio is 17:8 => 2:1. Final combat ration must
include both Players’ CMs which makes it 3:1. If combat result is B2/-1 then Germans
must lose 1 CEL (in unit(s) that used black star modifier) and Soviet must:

= lose 2 CEL and does not retreat.

11



[5.3]
531

5.3.2

5.3.3

5.34

5.3.5
5.3.6

5.3.7

5.3.8

= lose 1 CEL and retreat by 1 hex.
= retreat by 2 hexes (1 disorganization test must be made).

Note:
Combat results are explained below COMBAT table.

k B Wi\

Ret re a.t 1 Ex;mple of retreat pat

escape by 1 hex
I":_::_:“""“") g esca:eb;'lhexes
Unit retreat when a combat result is Dx |/ ® = @ escape by 3 hexes
or Ax (x marks number of hexes unitto | ( Qy,) ¢
retreat). BEUE
Unit retreat by given number of hexes |s / i

from hex they fought. 1315 /e,
During retreat unit cannot enter enemy
ZoC, impassable terrain or leave the
map.

Unit can retreat through hexes in enemy
ZoC if they are occupied by friendly
unit(s). For each hex of such retreat unit

loses additional 1 CEL.

Example:
Above picture shows retreat hexes available for Soviet infantry after successful

attack by German armored battalion.
If Soviet Player decides to retreat on friendly armored unit then retreating unit
must lose 1 CEL.

During retreat unit can cross big river only through bridge.

Unit cannot finish retreat on hex where it would cause exceeding stacking limit. Unit
can retreat through such hexes.

Unit can choose not to retreat — each hex of such sustained retreat cost 1 CEL reduced
from units that do not retreat by required number of hexes.

Example:
Combat result is D3. Player has 4options:

= withdraw by 3 hexes

= withdraw by 2 hexes and carry additional loss of 1 CEL
= withdraw by 1 hex and carry additional loss of 2 CELSs.
= keep position and lose 3 CELs

Additional losses due to sustained retreat are taken regardless on number of hexes
units occupied before the combat.

Example:
Soviet guard division is attacked by 3 German armored battalions (from 3 different

hexes). If attacking Germans receive combat result A1 and German Player wants to
keep positions he must carry loss of 1 CEL from any of 3 units that took part in the
attack.

If German Player does not want to lose 1 CEL he must withdraw all 3 units by 1
hex.

12



5.3.9

5.3.10
[5.4]

54.1

5.4.2
543

5.4.4
545
5.4.6

German Player may also leave some units (e.g. 2 of 3 attacking) and withdraw the
rest. In this case he must carry loss of 1 CEL from unit(s) that remained on the
position(s).

Retreat obliges Player to conduct disorganization test(s) (see 5.6.2). Player must make
test for each (except the first one) hex of his retreat path.

Example:
a) Attacker received combat result A2 and retreated by 2 hexes. It must make 1

disorganization test.

b) Defender received combat result D4 and retreated by 3 hexes. 2 disorganization
tests must be made.

c) Result D3 result and retreat by 1 hex does not require making disorganization
test.

After retreat, in next Movement Phase, unit cannot build Field Fortifications.
Pursuit
If enemy units retreated as a result of a combat, then opposing units can pursuit.

Note:
Defender can also pursuit — if attacker retreats after unsuccessful assault (result Ax).

Pursuit must be made through retreat path and allows leaving it by 1 hex.

If several units retreated through different paths then pursuing Player can choose any
one of them.

First hex of any pursuit must be the hex emptied by retreating unit(s).

Enemy ZoCs are ignored during pursuit.

Pursuing units can move number of hexes not greater than length of retreat path.

Example:
Defending German 167 Regiment received combat result D4. It retreated by 3

hexes. In this situation pursuit can be made by up to 3 hexes and first hex must be the
one emptied by defender.

. \ 4115 4315 4515 4715

1541

. 7lJ “““\l “""""/x + B3

\‘“". 7 ) ri =
70 : Pl 70 2
ﬁi f =
u g |
| Jakowlewo
0
: 40 i 4418 46 q

4118 : 4518 =
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5.4.7 Pursuit is not limited by MPs unit has but it cannot enter impassable terrain or leave
the map.

5.4.8 Pursuing unit must stop after it crosses big river.

5.4.9 Towed units cannot pursuit.

5.4.10 If enemy unit was eliminated in combat then victorious units can enter emptied hex
and move on any adjacent hex (all movement limitations, especially influence of
enemy ZoCs, apply in this case).

[5.5] Terrain Influence

5.5.1 Terrain effect on combat is described in TERRAIN EFFECT table.
5.5.2 Terrain influence on combat is cumulated.

Example:
If defender is in woods (+ 1 CM) and is attacked through river (+1 CM) then

defending Player gains +2 CMs for this fight.

5.5.3 If defender fights on multiple hexes the one with most SPs is counted for any CMs
gained by defender.

5.5.4 Rivers and/or streams influence combat only when more than half of SPs of attacking
units assault through this obstacle.

R o ST Rt
G




[5.6] Disorganization

5.6.1

5.6.2

5.6.3

5.6.4
5.6.5

5.6.6

Unit becomes disorganized during combat (direct combat, artillery attack or air attack)
in three cases:
= combat result marks disorganization (e.g. result D3D means that defender
retreats by 3 hexes and becomes disorganized)
= attacking Player fails disorganization test (marked by black dot in given
combat result table).
= Defender fails disorganization test after retreat.
Disorganization test requires Player to throw 2 dices (2K6). If result is higher or
equal than unit morale limit, then it become(s) disorganized.

Nation Unit type Morale limit
SS units 12
Germans Wehrmacht 11
Italians, Volkssturm 9
Americans, British, Poles 11
. French, Romanians, Hungarians 9
Allies .
Belgians, Dutch 8
Italians 7
. Guards, Poles 11
Soviets
others 10

Artillery can be disorganized only if it fights on hex adjacent to the enemy.

Example:
Artillery unit supported infantry attack from distance of 2 hexes. If attacking units

becomes disorganized as a result of the attack, supporting artillery does not. If
artillery supporting the attack were on hex adjacent to enemy units being attacked
than it would disorganize together with regular units.

Disorganized unit has its strength (both in attack and defense) halved.
In order to organize unit must remain inactive during full turn.

Example:
a) Unit became disorganized during combat. If unit remains inactive until end of its

next Combat Phase than it regains full strength (after its next Combat Phase). In
order to do this unit cannot move, attack or be attacked.

b) Unit became disorganized as a result of air attack (phase 7). If unit does not move,
attack or be attacked than it regains full strength at the end of phase 7 next turn.

Disorganized units are covered with disorganization marker.

Disorganization Markers

®

German American Soviet
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6.0

Artillery

Artillery (as well as air units) can fight indirectly by supporting friendly regular units’ attacks
or defenses from remote hex(es).

[6.1]

6.1.1

6.1.2
6.1.3
6.1.4
6.1.5
6.1.6
6.1.7

6.2]

6.2.1
6.2.2

General Rules

Artillery is divided into 2 types: towed and self-propelled.

4 2 0

towed artillery self-propelled artillery

Artillery range is 3 hexes.

Artillery can use ranged fire only when in combat setup (see 6.2).

Artillery can fire twice during the turn — once in each Combat Phase.

Artillery units do not have ZoC; except situation described in 10.1.11.

Towed artillery has always 1 CEL.

Towed artillery can be eliminated by enemy regular unit entering its hex. During
Movement Phase such action cost 1 MP — if artillery unit is in fortifications then cost
increases by 1 MP.

Example:
3 artillery units alone on hex can be eliminated if enemy regular unit enters the hex

and spends 3 MPs. If artillery units were fortified then cost for such action would be 4
MPs.

Movement

Towed artillery is always treated as trucked units.
Towed artillery has icon of a gun at the front (combat setup) and icon of a truck on the
reverse (transport setup).

combat setup transport setup

Note:

Some (older) games’ counters do not have combat/transport setup printed. They
have icon of a gun on the front and empty reverse side. For those, empty reverse
should be treated as transport setup with MPs printed on the front of the counter.
Those towed artillery units should be still treated as trucked units.
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6.2.3
6.2.4

[6.3]
6.3.1
6.3.2
6.3.3
6.3.4

6.3.5

[6.4]
6.4.1

6.4.2

6.4.3

transport setup
(empty reverse)

combat setup
Towed artillery can move only when in transport setup.
Change of setup is possible only during Movement Phase and cost 1 MP.

Note:

Above two points make it unable for the artillery in combat setup to withdraw after
direct attack. In such situation artillery units must suffer loses and/or is eliminated by
enemy units entering the hex during pursuit.

Example:
An infantry unit (2 CELs) and towed artillery unit (in combat setup) on one hex are

attacked by the enemy. If combat result is D2 then following scenarios are possible:

a) Infantry retreats by 2 hexes and enemy eliminates the artillery during pursuit.
b) Artillery is eliminated (loss of 1 CEL) allowing infantry to retreat by 1 hex only.
c) Both artillery and infantry suffers loss of 1 CEL. Artillery is eliminated but that
allows the infantry unit to keep position.
Elimination of infantry unit (by losing 2 CELs) would not save the remaining
artillery — attacking Player can enter its hex in pursuit and eliminate artillery unit.

If artillery was in transport setup it couldn’t fight but would be able to retreat
without taking loses.

Support Fire

Artillery (only in combat setup) can support friendly regular units in combat adding its
attack/defense strength to SPs of the fighting units.

For attack any of the attacking hexes must be within artillery’s range.

For defense any of the defending hexes must be within artillery’s range.

Artillery providing support fire does not suffer combat results (cannot pursuit or
retreat, cannot disorganize etc.)

Support fire can be made on adjacent hex. In such situation artillery units suffer all
combat effect.

Ranged Attacks

Artillery (only in combat setup) can fire directly to enemy units on remote hexes — in
this case offensive SPs are used.
Procedure of a ranged attack is as follows:
a) Player declares number of units carrying the attack and select target (one hex)
that must be within range of all attacking units.
b) Player sums total SPs of attacking artillery units and subtracts doubled terrain
modifier of the defender.
c) Player rolls 2 dice (2K®6).
d) Result is looked up in ARTILLERY FIRE table.
Ranged attack cannot be made on adjacent hexes.
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6.4.4
6.4.5

6.4.6

6.4.7

[6.5]
6.5.1
6.5.2
6.5.3
6.5.4
6.5.5
6.5.6

6.5.7

6.5.8
[6.6]
6.6.1

6.6.2

Ranged attacks can be supported by air units.

Unit that is target of a ranged attack cannot be attacked directly in given Combat
Phase. If they must be attacked (e.g. due to 5.1.3) then ranged attack cannot be made.
Artillery that was target of a ranged attack, after applying its result, can in the same
phase support defense of friendly regular units.

Example:
Artillery unit was attacked by enemy artillery ranged fire. As a result artillery unit

was disorganized. The unit can support defense of friendly units in the same Combat
Phase using half of its defensive SPs.

Artillery can target objects (in this case also on adjacent hexes). Attack procedure is
analogous to that in 6.4.2 (but no terrain modifiers are accounted for) and result is
looked up in ATTACKS ON OBJECTS table.

Barrage

Some scenarios allow making artillery barrage — Players can execute it only when it is
explicitly described in game scenario description.

Barrage is executed in Barrage Phase.

Barrage is carried analogous to 6.4 with firing artillery units strength doubled.

Barrage fire on one hex must be made by at least 2 artillery units.

Artillery units firing barrage cannot move in the same Movement Phase

Artillery unit firing barrage cannot support friendly units during next 2 Combat Phases
(Player’s attack and defense).

Barrage is limited by Ammo Units (AU) — every artillery firing in the barrage must
use 1 AU. Number of AUs available is described in the scenario.

Example:
If scenario allows for barrage during first 2 turns and provides 8 AUs for that it

means that Player can (for example):
= Use available AUs in the first turn (if he has enough artillery units).
= Fire e.g. with 3 artillery units (using 3 AUs) during first turn and firing with 5
artillery units (using remaining 5 AUSs) in the second turn.

Player does not have to execute the barrage nor use all AUs available.

Direct Combat

Artillery attacked directly can support defense according to 6.3 only when stacked
with at least one regular unit.

Artillery can support attack on adjacent hex according to 6.3 even without being
stacked with regular unit.

Note:

This means that artillery practically always can support attack using its offensive
SPs. Although support from hex adjacent to enemy may result in artillery
disorganization.
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6.6.3

6.6.4
6.6.5

7.0
[7.1]
7.11

7.1.2

7.1.3

7.14
7.15

7.1.6

7.1.7
7.1.8
7.1.9
7.1.10
7.1.11
7.1.12

[7.2]

7.2.1

Towed artillery in combat setup, alone on hex, defends always with 1 SP when
attacked directly. Defense of such hex is always 1 SP regardless of number of artillery
units attacked.

Example:
Enemy attack 2 hexes: 1 hex is occupied by cavalry unit (regular unit) with 5 SPs

and the second hex is occupied by 2 artillery units (in combat setup) having 5/3 SPs
each.
= In such case defending units have 6 SPs
= If the units were attacking they could use 15 SPs.
= If there were another regular unit with artillery on hex they could use their 6
defensive SPs.

Towed artillery in transport setup, alone on hex, defends analogous to 5.1.9.
Self-propelled artillery always fights using its offensive/defensive SPs.

Fortifications

Field Fortifications

Field Fortifications (FF) are marked by putting respective auxiliary
counter under the unit on the hex.
FF are built in Movement Phase by a regular unit that:
a) will not be moved AND
b) didn’t retreat in last Combat Phase (it is allowed to sustain retreat and take
loses).
Unit that retreated and is unable to leave enemy ZoC can build FF (7.1.2 b) can be
ignored).
Building FF cost all MPs unit had at the beginning of Movement Phase.
FF is removed from the map if there is no unit on the hex at the end of the phase

9

Note:
This means that all units that were on the hex with Field Fortifications can leave
and if other friendly unit enters the hex by the end of the phase it can use the same FF.

FF is removed when enemy unit enters the hex. The same FF cannot be used by
opposite Players.

FF can be rebuilt on the same hex by both sides.

FF can be built on any terrain except swamps.

FF cannot be built on hexes with Fixed Positions.

FF provides 2 CMs for unit(s) defending in cities and 1 CM in other terrain.

Units on hex with FF do not need to attack (see 5.1.3).

FF does not add any cost for movement.

Improved Fortifications

Improved Fortifications (IF) works analogous to Field Fortifications except:
= they cannot be built, number of IFs available to the Player is provided in each
scenario and Player places them on the map at the beginning of scenario
= |IF is removed from the map only when enemy unit enters the hex.
= |IF provides 2 CMs for defending units.
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[7.3]

7.3.1

7.3.2

7.3.3

7.3.4

7.3.5
7.3.6

Fixed Positions

Fixed Positions (FP) are marked on the map in the form of black-red lines or areas
(,,Zigfrid Line in Ardennes or Normandy beaches fortifications).

\\//\\f\—’\\/

FP halves total SPs (including artillery and air support) of attacking units and provide
additional 3 CMs for defender.

Some hexes may create independent FP group that provides different CMs bonus for
defender.

FP is accounted for if no less than half of attacker’s SPs assault through FP hex edge.
If more attacker SPs are used for attack from the rear side of FP then defender loses all
bonuses of FF (is treated as if defended in FF).

Example:
Infantry division is defending on Fixed

Positions Line. It is attacked by 3 units: A,
B and C. Attack by unit A is through FP
line while attack by units B and C is not.
Strength of attacking units on hex A is 15
SPs, strength of units on hex B is 5 SPs
and strength of units on hex C i 10 SPs.

In this case defender receives all
bonuses provided by Fixed Position line |
(as enemy units attacking from the rear are not stronger than those attacking
frontally). Nominal attack SPs of unit A will be smaller than those of units B and C
due to the fact that its SPs will be halved.

If attacker regrouped and put additional SPs on hex B or C than defender didn’t
receive FP bonuses and would be treated as if he was in Field Fortifications.

Note that unit’s A SPs are always halved (same as artillery and air support) even if
no FP bonus is gained by defending unit due to stronger units attacking from the rear.
What changes is CMs received by defender.

Units in FP do not need to attack (see 5.1.3).
Loses due to sustained retreat for units in FP are reduced by 1.
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Example:
Above rule means that for combat result D1, if defender wants to keep position he

does not carry additional loses, for D2 would need to carry loss of 1 CEL, for D3
would need to carry loss of 2 CELSs etc.

7.3.7 Units in Fixed Positions are always supplied.
8.0 Air Units

For simplicity reasons game reflects only air operations that influenced main ground
forces. Therefore game reflects only bombers and offensive air support and omlts aspects
connected with fighters’ combats. Air units are assumed — -
to have fighters cover which provides very simple 78 >
reflection of air combat if opposite Players happen to
choose operation on the same or adjacent hex.

Lot e
e

[8.1] General Rules

8.1.1 In the game air units are artificially grouped and represented by air counters with
strength provided on them.

Note:
1. Some scenarios provide only number of air SPs available for Player. In such
situation Player can freely divide them into air missions.
2. Some (older) games provide only number of air counters available (without
strength printed). In such case Players should assume each counter is equivalent
of 5 SPs (4 SPs for Soviet counters).

8.1.2 Air counters allow carrying air missions during Air Phases.

8.1.3 Air counter can be used for one air mission only.

8.1.4 Players can carry missions during any Air Phase.

8.1.5 Each counter can be used only once during a turn

8.1.6 There can be unlimited number of air counters on a hex.

8.1.7 Air missions should be chosen secretly by each Player during each Air Phase.

8.1.8 If enemy air units carry missions on same or adjacent hexes then air combat takes
place.

Air combat procedure:

Each Player sums SPs used on a hex and adds result of one dice (1K6) roll. Player
with lower result loses the combat and removes his counters from the map. Ties are
rerolled until winning side is chosen.

8.1.9 Air units that were forced to retreat during air combat cannot be reused in the same
turn.

[8.2] Air Missions

8.2.1 There are following missions:

offensive support

defensive support

air attack

objects destruction

Soviet movement disorganization

44883030
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= rivers crossing disorganization
= supply mission

[offensive support]

8.2.2 Air units supporting assault of regular units add their strength to SPs of attacking
friendly units.

8.2.3 Air units can support artillery ranged attack — SPs of aircraft units is added to SPs of
firing artillery.

[defensive support]

8.2.4 Air units supporting defense of ground units add half of their strength to SPs of
defending units.

Example:
Player chooses 3 units (having 13 SPs in total) to support defense of friendly

infantry regiment. Strength added to this defense is 7 SPs.
8.2.5 Soviet air units cannot be used for defensive support.
[air attack]

8.2.6 Air units can attack enemy ground units. Effect of the attack is set according to AIR
ATTACK table.

8.2.7 During air attack doubled defender’s terrain modifiers are subtracted from total SPs of
attacking air units.

Example:
Player chooses 20 SPs of air units to attack German armored battalion on hills (2

CMs). From initial SPs of attacking air units, 4 SPs (2 x 2 CMs) is subtracted. As a
result attack is carried with 16 SPs.

[object destruction]
Currently the only object that air unit can target is bridge.

8.2.8 Results of air attack on an object are in ATTACKS ON OBJECTS table.
8.2.9 Terrain modifiers are not counted for attack on objects.
8.2.10 Minimum of 4 SPs must be used to air attack objects.

[Soviet movement disorganization]

8.2.11 Air units can disorganize movement of Soviet (only) ground units.

8.2.12 1 SP must be used for each target hex to disorganize Soviet movement.

8.2.13 Each SP used adds movement cost of +1 MP to the movement on target hex.

8.2.14 If a Player adds second SP to target a single hex then a unit moving through it rolls
two dice (2D6). On result of 2, 3 or 4 the unit loses 1 CEL.

8.2.15 Maximum 2 SPs can be used for the mission on single hex.

8.2.16 Unit starting its movement under movement disorganization influence loses MPs and
rolls for loses according to 8.2.14.
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Example:

German Player targets 7 hexes by a
disorganization mission. If Soviet Player
moved 57" armored brigade along the
road then he needs to pay additional
1MP per each hex influenced by
German air missions.

294" infantry division that starts T
movement on hex influenced by German Hramiart P
air mission has its MPs reduced by 1. It | /[ ssoganistonzone |$
still needs to pay additional 1 MP (2
MPs in total) for movement within -
influenced area. el

If German Player carried 2 missions [
then Soviet units would have to spend
+2 MPs per hex influenced by the missions and/or lose 2 MPs if they start movement
on such hexes. Each unit would need to roll for loses per each target hex.

1533 1733

\ 4700 / 4
/ /

S
7

[river crossing attack]

8.2.17 Air units can attack enemy units crossing big rivers in Movement and Strategic
Movement Phase.
8.2.18 During river crossing attack missions Player receives number of air attacks equal to
doubled value of air SPs used.
8.2.19 Player assigns any number of the attacks to given hex(es). If more than 1 hex is chosen
than they must be connected with each other.
8.2.20 Each enemy unit crossing river must roll 1 dice (1K6) for each such air attack
assigned to the hex:
= result 1 — 5 means no losses
= result of 6 means loss of 1 CEL.

Note:
River crossing attack targets hex that unit enters after it crossed big river.

Example:
Unit must roll twice if 2 air attacks are assigned to hex of its river crossing.

8.2.21 Unlimited number of units can be attacked during one turn.
8.2.22 Ground units crossing rivers through bridge are not influenced by river crossing
disorganization missions.

[supply mission]

8.2.23 Allied air units (American and British) can supply friendly ground units.

8.2.24 Player must spend at least 7 SPs of air units to carry out supply mission.

8.2.25 Player must roll 1 dice (1K6) for each air unit carrying supply mission — on result of 6,
the mission is unsuccessful.

8.2.26 Each successful supply mission lowers OoS level of units on given hex by 1.
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9.0
[9.1]
9.1.1
9.1.2
9.1.3

9.14

9.15
9.16

9.1.7
9.1.8
[9.2]

9.21

9.2.2

9.2.3

9.24

Example:
Player carries 3 air supply missions in order to supply infantry division (3 counters

with OoS level = 4 each). Player places his air units on hex with infantry division
positions. Player rolls 3 dices with result of 1, 4 and 6. This means that only
2 missions were successful. All division’s regiments on the hex have their OoS reduced

by 2.

Headquarter (HQ)

General Rules

| Collins  Kirchner

HQ counter does not have ZoC.

HQ counter has 10 MPs and is moves like trucked units.

HQ counter can enter hexes inaccessible for trucked units (swamps, mountains) for
cost of 5 MPs.

HQ has 1 CEL.

Note:
As a result Player can eliminate HQ instead of regular unit when combat results
obliges him to carry loses.

HQ is eliminated if enemy regular unit enters hex with it (if HQ is alone on hex).
Elimination of HQ gives the opposing Player 5 CMs to be used in next 2 Combat
Phases.

Example:
Player loses HQ during a combat (Phase 4, Turn 5). Opposing Player gains 5 CMs

he can use during Phase 10 on Turn 5 and Phase 4 on Turn 6.
He can use all 5 CMs in one combat or can divide them and use in multiple
combats.

CMs gained due to HQ elimination can be used for combats within 8 hexes from
elimination field.
See 5.1.9.

Combat Influence

If all units in given combat are within friendly HQ range, then Player can add
(if defending) or subtract (if attacking) 1 from dice roll for combat result (see 5.2.1

pt. ).
HQ range is as follows:

American, British, German 4
Soviet and other nations 3

HQ influence is not cumulated — Players cannot add/subtract more than 1 from dice
roll.

Both attacking and defending player can gain HQ combat modifier (in this case
influence equals out).
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10.0

Supply

[10.1] General Rules

10.1.1
10.1.2
10.1.3
10.1.4
10.1.5

10.1.6
10.1.7

10.1.8

10.1.9

Line of Supply (LoS) is a path of hexes connecting a unit with Supply Base.

LoS for unit is checked in Player’s Supply Phase.

Each unit traces its LoS independently from other units. LoS of a unit is not limited in
any way by LoSes of other friendly units.

Supply Bases are defined for each scenario (they are usually map edge, a town or
given HQ unit).

LoS can be traced through roads without range limits.

LoS can be traced through off-road hexes for distance allowed by supply MPs limit.
Number of off-road supply MPs is specific for each nation.

Americans, British 12 MPs
Germans 10 MPs
Soviets (and their allies, e.g. Polish People’s Army) 8 MPs
German allies (Romanians, Italians etc.) 7 MPs

In order to provide supplies LoS must “reach” unit’s hex (starting from a road hex). It
is done by spending supply MPs — they are spent analogously to trucked unit’s
movement rules (e.g. LoS cannot be traced through swamps or mountains).

Supply MPs are not spent for tracing off-road LoS between friendly units on adjacent
hexes.

10.1.10LoS cannot be traced through enemy units and/or their ZoCs unless the hex is

occupied by friendly regular unit.

10.1.11For LoS tracing it is assumed that all enemy units and all enemy towns have ZoC

(excluding artillery in transport setup and HQs).

Example:
Line of Supply is traced from western edge of the map to units of

“GrossDeutchland” division. Due to presence of enemy units blocking the roads
Germans must trace supply line through off-road hexes. The limit of 10 MPs German
Player can use allows him to reach 2 armored battalions but only because 2 motorized
infantry units extend the line by 1 hex. Even then assault guns brigade (on hex 4106)
and Tiger tanks company (on hex 4404) are out of supply.

To supply assault guns brigade there must have been a unit between it and supplied
armored battalions since after reaching a road on hex 4206 Germans have no more
supply MPs to spend and cannot supply further off-road units.

To supply Tiger company German Player could move additional unit on hex 4303
and allow to trace supply line through ZoC of Soviet 18" infantry division or could
move a unit on hex 4406 to allow tracing LoS on road through ZoC of Soviet 50"
cavalry division.
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Unit’s that are unable to trace LoS during Player’s Supply Phase are considered Out of
Supply (OoS) and covered with counter marking OoS level equal to 1.
Oo0S units have their movement and attack strength halved (they still have full strength
in defense).
Player, by increasing OoS level of unit by 1, can:

= move unit using its full MPs limit

= attack using unit’s full strength

Out of Supply

Example:
If Player moves unit out of supply using its full Movement Points limit and then

attack using units full strength that OoS level of this unit is increased by 2.

10.2.4 Unit’s OoS level is increased by 1 when:

= unit is successfully attacked by enemy (result Dx)
= unit’s attack fails (defender does not obtain Dx result)

Example:
If O0S unit moves with full Movement Points limit, and then unsuccessfully attacks

using its full strength then its OoS level increases by 3. If in subsequent Combat Phase
unit is successfully attacked by enemy than its OoS level increases additionally by 1.

10.2.5 OoS modifications are made just after the action (movement or combat) which

changes it.
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10.2.6 Each OoS unit undergoes surrender procedure during Supply Phase:

Surrender Procedure:

Player rolls two dices (2K6) and then subtracts the result from current OoS level. If
OoS level modified this way is greater than 0 then unit surrender and its counter is
eliminated from the game.

10.2.7 If O0oS unit regains supply (Player can trace LoS to the unit at the beginning of Supply
Phase) then its OoS level is reduced by 4.
10.2.8 Unit which OoS level is 0 or less regains all its base combat statistics (SPs and MPs).

Example:
It will take 2 Turns with full supply for unit with OoS equal to 5 to regain full

combat abilities.
11.0 Reinforcements

[11.1] General Rules

11.1.1 Reinforcements for each Player are provided in game scenarios.

11.1.2 Reinforcements can enter map in entry zones (hexes) described in game scenarios.

11.1.3 Reinforcements can enter map during Movement Phases and Strategic Movement
Phases.

11.1.4 Reinforcements cannot enter the map from entry zones controlled by enemy.

11.1.5 If reinforcement units cannot enter the map stacked on one hex then Player should
divide them into stacks and add entry hex MPs cost for movement of each next stack.
This effect is cumulated for subsequent reinforcement stacks.

Example:
Player has 10 full infantry units (2 CELs each) and decides they enter the map from

one hex. This number of units must be grouped into no less than 3 stacks.
Assuming that entry hex is woods and infantry pays 2 MPs to enter it, the cost of
entry is as follows:
= first stack (selected by the Player pays) 2 MPs to enter this hex
= second stack pays 4 MPs to enter this hex
= third stack would need to pay 6 MPs to enter this hex (but since infantry units
are not likely to have 6 MPs this unit will have to wait until next Movement
Phase to enter the map or Player would have to change entry zone — see
below)
If unit enters the map through hex with road and infantry movement cost on the
road is e.g. 0.5 MP than:
= first stack would pay 0.5 MP to enter the hex
= second stack would pay 1 MP to enter the hex
= third stack would pay 1.5 MPs to enter the hex
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[11.2] Entry Zone Changing

Player may want to or be forced to (by enemy controlling entry zone) to change entry hexes
for his units.

11.2.1 Player can change entry zone and enter adjacent entry zone in the same Movement
Phase at cost of half of unit’s MPs.

Example:
Second armored division (7 MPs) was to enter the map from entry (hex) zone C. In

the same Movement Phase Player can switch entry zone and enter the map from zone
(hex) B or D with his division having 3.5 MPs for entering the map and subsequent
movement.

11.2.2 Player can delay unit’s entry and ‘move’ by 3 entry zones instead of entering the map.
On next Movement Phase such unit(s) can enter the map from new entry zone using
all theirs MPs.

Example:
There are 10 entry zones: A, B, C, D, E, F, G, H, | and J. According to scenario

Player can enter his reinforcements in zone C.

During current Movement Phase Player can enter zone C with unit’s all MPs,
zones B or D with half units’ MPs or enter zones A, B, C, D, E and F in next
Movement Phase using unit’s all MPs.

To enter from zones G, H and | Player would need to delay entry of his units by 2
turns. To enter from zone J Player would need to delay entry of his units by 3 turns

Turn 4: All MPs All MPs All MPs All MPs All MPs All MPs All MPs All MPs All MPs All MPs
Turn 3: All MPs All MPs All MPs All MPs All MPs All MPs All MPs All MPs All MPs X
Turn 2:  All MPs All MPs All MPs All MPs All MPs All MPs X X X

Turn 1: 1/2 MPs All MPs 1/2 MPs X x X X x

11.2.3 Unit can leave map through entry zone during Movement Phase or Strategic
Movement Phase. On next Movement Phase unit is treated as reinforcement unit that
can enter the map in the same entry zone (or delay its entry and move to different
entry zone).

11.2.4 If there are no entry zones printed on map (and scenario enters units from edge of the
map) Player should treat each road that leaves the edge of the map as separate entry
zone.
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COMPLIMENTARY RULES

Rules in this section — for simplicity — can be omitted during first games.

12.0 Strategic Movement

Strategic movement allows Player to relocate his units after all attacks were
made therefore he can exploit any gaps that was created as a result of combats.

[12.1] General Rules

12.1.1 Strategic Movement Phase (Phases 5 and 11) allows Player to move his units after
Combat Phase.

12.1.2 Strategic Movement (SM) can be made by units that were not activated during their
Movement Phase and did not fight during their Combat Phase.

12.1.3 All movement rules (see [3.0]) apply to Strategic Movement.

12.1.4 Units to be moved in Strategic Movement are to be marked with ‘Strategic Movement’
counter.

[12.2] Detailed Rules

12.2.1 Units that are in enemy ZoC cannot make SM.
12.2.2 Units cannot enter enemy ZoC during SM.
12.2.3 For SM units MPs are reduced by 2.

Example:
Motorized infantry regiment normally has 7 MPs. During Strategic Movement

unit’s MPs are reduced to 5 MPs.
13.0 Tactical Concentration

[13.1] General Rules

13.1.1 Tactical Concentration (TC) applies to German and Allied divisions or Soviet
armored/mechanized corps.

13.1.2 If 3 units of the same division/corps take part in a combat than commanding Player
gains 1 CM.

13.1.3 Itis not required that units are on the same hex.

13.1.4 TC effect is cumulated.

Example:
If 9 units of 3 different divisions (3 of each) take part in a combat then Player gains

3 CMs.
If 6 units of single division take part in a combat then Player gains 2 CMs.

13.1.5 Unit’s organic artillery (e.g. artillery of armored or motorized divisions) count for TC
even if artillery uses ranged fire to support regular units.
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14.0 Bridges

[14.1] General Rules

Zniszczony

14.1.1 All bridges are objects (hence can be e.g. destroyed by
artillery and/or aircrafts).

14.1.2 Destroyed bridges can be marked by ‘bridge destroyed’ counter or by removal of
‘bridge’ counter.

14.1.3 Bridges are controlled analogous to other objectives, but if opposing units are on each
sides of the bridge then Player whose unit was first at the bridge controls it.

Example:
Bridge connects hexes A and B and there is German garrison on hex B. The bridge

is owned by Germans.

Allied unit(s) moved to hex A, attacked Germans and forced them to retreat from
hex B. Now the bridge is controlled by Allies.

Even if Germans reenter hex B the bridge will still be controlled by Allies (and only
they will be able to destroy it) until they decide (or are forced) to empty hex A and
Germans stay on the other side.

14.1.4 Bridge can be destroyed only by Player who controls it.
[14.2] Rivers and Streams

14.2.1 Bridges on river or stream can be destroyed by any regular or HQ unit at cost of 1 MP
(unit must be on any side of the bridge).

14.2.2 Bridge on river or stream can be rebuild by any non-artillery unit within HQ range
(HQ itself can also rebuild bridge) at cost of 3 MPs.

14.2.3 Bridges on rivers or streams can only be rebuilt. Player cannot build a bridge if there is
no bridge printed on the map.

[14.3] Big Rivers

14.3.1 Bridges on big river can be destroyed by any regular or HQ unit at cost of 3 MP (unit
must be on any side of the bridge).
14.3.2 Bridge on big river can be built or rebuilt by a HQ unit according to following
procedure:
= HQ unit must be at one of the river’s sides at the end of its Supply Phase.
= In his next Movement Phase Player declares bridge building and secretly notes
hexes connected (HQ uses all its MPs for bridge building).
= If other hex of the river (that bridge is going to connect) is controlled (not in
enemy ZoC or friendly regular unit on both hexes) by the Player till next Turn’s
Movement Phase then bridge is built and can be used in this Movement Phase
(HQ uses all its MPs for bridge building).

Example:
In Turn 5 HQ unit takes part in pursuit that ends at the bank of big river (hex A).

In Turn 6, during Movement Phase, Player can declare bridge building (to connect
hex A with hex B). If Player manages to control hex B till Movement Phase on Turn
7 then it is built and can be used from this phase.
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Turn 1: HQ sets at : Br
the river bank build and can be used

14.3.3 One bridge can be built/rebuilt by one HQ only
14.3.4 During bridge building HQ unit cannot move (it can be attacked but must stay on the
hex).

15.0 Special Units

Some units during combat had special abilities that could not be included in Strength Point
factor. Such units’ positive or negative influence during combat is described in this chapter.

[15.1] Starred Units

15.1.1 Units that had considerable advantage during a fight are marked by colored stars
which reference unit’s special abilities that can be used in combat.
15.1.2 Special abilities are described in below table:

Counter | Color Influence Attack Defense
Influence combat against
black | unfortified units. i YES. ) YES
star | Disabled if enemy uses white star. | igf{?f}’e'j)no
Disables yellow stars.
Influence combat against enemy
white | mechanized units (and armored YES YES
star | cars) (see 15.1.5)
Disables black and yellow stars.
ellow Influences any attack.
ystar Disabled if enemy uses black or YES NO
white star.
blue Influences any combat.
star Cannot be disabled by enemy YES YES
8] B stars.

15.1.3 Each star provides +1 CM during combat.

15.1.4 Star influence is cumulated.

15.1.5 Towed units (e.g. towed anti-tank guns) can use their abilities only in defense.
15.1.6 Player can decide if he wants to use unit’s special ability (see 15.1.7).
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15.1.7 If Player uses special ability during combat and suffers any loses than at least 1 CEL
must be reduced from units using their abilities during the combat.
15.1.8 Unit’s special abilities cannot be used in assault through big river.

[15.2] Resilience Groups (RG)

Resilience Groups (RG) are units which task is to defend given hex as long as
possible. (Polish name: “Grupa Oporu” - GO)

15.2.1 RG units do not have MPs and cannot move (and retreat).
15.2.2 RG units do not have ZoC.
15.2.3 RG units provide +1 CM for hex defense.

[15.3] Volkssturm (VS)

Volkssturm (VS) units are non-experienced units pulled together from youngsters
and elderly men when no regular units were available.

15.3.1 Enemy Player gains 2 CMs when fighting (in defense and in attack) with V'S unit(s).

15.3.2 VS combat weakness can be overridden by stacking it with regular unit(s). Each
regular unit stacked with VS unit reduces enemy advantage by 1 CM.

Therefore you need two regular units on hex to have Volkssturm fight normally.

15.3.3 VS units can reinforce regular (non-motorized) infantry units (only). If both units are
on the same hex and do not move during Movement Phase infantry then unit can
regain 1 CEL taking that from VS unit.

15.3.4 1 CEL per Turn can be gained by 1 infantry unit.

[15.4] Fortifications Units (FU)

Those units were designed, trained and equipped to fight in fortified positions.
(Polish name: “Rejon Umocniony” - RU)

15.4.1 Fortification Unit (FU) provides 2 CMs when defending in any fortifications.
15.4.2 Use of FU unit’s special ability is voluntary.
15.4.3 If Player uses FU unit’s special ability during combat and suffers any loses than at

least 1 CEL must be reduced from those units.
=+ * V.Y
- \NJ

16.1.1 During game Players cannot look what’s in enemy stacks (effectively only top counter
is visible in this case).
16.1.2 Player can cover his units with masking auxiliary counters which disallows to see top
unit on the stack.
16.1.3 Players can look up enemy stacks that took part in combat — during and after it - until
end of current Combat phase.
16.1.4 When enemy units are on adjacent hex then following information must be provided
by opponent:
= enemy units are fortified: unit type of each counter
= enemy units are not fortified: unit type and number of CELs of each counter
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TABLES

TERRAIN INFLUENCE (SUMMER 1942)

Movement

motorized combat
(mechanized)

non-motorized

swamps inaccessible
1) Area made by 2 or more town hexes. Each city hex is connected with the other by main route.
2) If all movement is made on side road (brown color) then unit can move one additional hex on this road
3) Attacker’s strength is halved

TERRAIN INFLUENCE (WINTER 1943)

Movement

motorized

. non-motorized
(mechanized)

swamps
1) Area made by 2 or more town hexes. Each city hex is connected with the other by main route.
2) If all movement is made on side road (brown color) then unit can move one additional hex on this road
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Air Attack

) 2 3 4 5 6 7 8 9 10 11 12
1-2 - - - - - - - - - - -1
3-5 -1 - - - - - - - - -1 -1
6-8 -1D | -1 - - - - - - -1 -1 | -1D
9-12 -1D | -1D | -1 -1 - - - -1 -1 | -1D | -1D
13-16 - -1D | -1D | -1 -1 -1 -1 -1 -1 | -1D -
17+ -2D - -1D | -1 -1 -1 -1 -1 | -1D - -2D
-1 - Player loses 1 CEL D - units on hex are disorganized
Doubled defender’s terrain modifiers must be subtracted from air SPs used
Artillery Fire
Sl 2 [ 3 [ 4 | 5 |6 7|89 |10]11]12
1-2 -1 - - - - - - - - - .
3-5 -1 D . - - - - - - . D
6-8 -1D | -1D . ] - - - - . -1 | -1D
9-12 -1D | -1D D ] - - - . D -1D | -1D
13-16 - -1D D . . - . D -1D | -1D -
17+ - -1D | -1D | -1e -1 -1 -1 -1e | -1D | -1D -
-1 - Player loses 1 CEL D - units on hex disorganized ® - disorganization test
Doubled defender’s terrain modifiers must be subtracted from artillery SPs used
Attack on Objects (artillery or air support)
Sl > [ 3 [ 4 | 5 |6 | 7|8 | 9 |10]11]12
1-2 D - - - - - - - - - -
3-5 D D - - - - - - - D D
6-8 D D D - - - - - D D D
9-12 - D D D - - - D D D -
13-16 - - D D D - D D D - -
17+ - - D D D D D D D D -

D — object destroyed
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COMBAT TABLE
dice roll 1:4 1:3 1:2 1:1 2:1 3: 8:1 9: 10:1

T T T i S
N T R CAE AR AR DD D oA e
N I VAN L
ST - A e L
| e | e | mr A o2

p-1/-1 |D-1/D1|D-1/D2 | D-1/D2|D-1/D2 | D-1/D2| D-1/D2

12 A2D-2/-1 | A2D-2/-1 | A2D-2/-1 | A2D-1/-1 | D-1/-1 | D-1/-1

Modifications: terrain, HQ, tactical concentration, units' abilities

Examples:

-1/ -1 => both Players lose 1 SP

D2 -1 => defender must retreat by 2 hexes and loses 1 SP

-1/ D2 -1 => attacker loses 1 SP, defender retreats by 2 hexes and loses 1 SP
-1/ D4D => attacker loses 1 SP, defender retreats by 4 hexes and disorganize
A1D => attacker retreats by 1 hex and disorganize
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Setup Aid

Some units have specific names that are printed on the counter. For setup clarity standard unit
name is given and any specific name unit can have is provided in round brackets.

Setup examples:

Two regiments of 200" infantry (light)
division are to be placed on hexes 6309
and/or 6211 in Field Fortifications

54, 277/100 INF-R
6309, 6211(FF)

196 infantry regiment of 68™ infantry
196/68 INF-R 5824(FF) division in Field Fortifications is to be
put on hex 5824.

Assault Guns battalion is to be put on hex

244 AG-B (SwG) 3019 3019. Name on the counter is StuG.

HQ and artillery of XV Corps are to be

HQ XVII, Art./XVII 1205 but on hex 1205,

Armored brigade of 9 Army is to be put
ARM-BR (GPanc.) 5603 (FF) on hex 5603 in Field Fortifications. Name
on the counter is GPanc..

5" armored guards brigade of 6 Army is

5 ARM-BR 3617 o be put on hex 3617.

VI Cavalry Corps is to be put on hex
VI CAV (26, 28, 49) 4520  4520. Corp’s units are 26, 28 and 49
cavalry division.

16" armored division enters the map on

17V -16 ARM A May 17" from zone A.
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SCENARIOS

Kharkov 1942

(historical scenario)

Soviet offensive near Kharkov in 1942 was a great surprise for Germans. It was
expected that Red Army will launch attack directly on Kharkov but the event that Russians
will be able to commence equally strong push from their bridgehead was unexpected.
STAWKA'’s orders were clear: Kharkov was to be liberated from German’s hands.

Initially the offensive went smoothly and Wehrmacht was retreating towards Kharkov.
But as the days went the resistance grew and armored divisions countered.

Initiative changed when German 1% Armored Army launched a counter offensive from
the south. Operation “Friedericus” was aimed at cutting all Soviet units on the Western bank
off. German assault moved swiftly and brought doom for attacking Soviet armies. German’s
next strategic objective was Caucasus...

Scenario Notes
Scenario starts on May 12" and ends on May 28" 1942. (18 turns).
Initiative (moves first): Soviets.
Soviet Player places bridges between hexes: 1602-1603, 1902-1903 and 2204-2104
Some units starts in Field Fortifications (FF) or Improved Fortifications (IF).

g 4 4 0

Supply
Germans: Western, Southern and Northern edge of the map, Kharkov.

4

= Soviets: Eastern edge of the map.

German Setup

257 INF 5901(1)(FF) HQ VI, Art./VI KA (Romanian) 5328
188, 169/68 INF-R 6103, 6204(FF) 5, 20/4 INF-R (Romanian) 4625, 4426(FF)
HQ XXXXIV, Art./XXXXIV 6303 21/4 INF-R (Romanian) 4627
207, 204/97 INF-R (lighty 6305, 6307(FF) A, B/454 INF-R 4225, 4024(FF)
54, 277/100 INF-R (lighty 6309, 6211(FF) 183, 179/62 INF-R 3823, 3721(FF)
108/14 MOT-R 6213(FF) 442/168 INF-R 3620(FF)
1 INF (mountain) 6215,6217,6218(FF) HQ VIII, Art./VII KA 3421
HQ 111, Art/Ill 6315 1,2/108 INF-R (Hung) 3419, 3316(FF)
2 INF (Romanian) 6220, 6222, 6023 (FF) 261/113 INF-R 4530
196/68 INF-R 5824(FF) 260/113 INF-R 3627
525, 526/298 INF-R 5625, 5326(FF) 268/113 INF-R 2424
527/298 INF-R 5527(FF) 244 AG-B (StuG) 3019
85, 93/1 INF-R (Romanian) 5125, 4925(FF) HQ XI 5927
5J/1 INF-R (Romanian) 5127 191, 194/71 INF-R 3113
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190/62 INF-R 3413(IF) HQ LI, Art./LI 2008 (IF)
131/44 INF-R 3809 (IF) 226/79 INF-R 1503 (IF)
134/44 INF-R 3607 (IF) 208/79 INF-R 1304 (IF)
132/44 INF-R 3406 (IF) 212/79 INF-R 1203 (IF)
523/297 INF-R 3105 (IF) HQ XVII, Art./XVII 1205
524/297 INF-R 2505 (IF) 222/75 INF-R 803 (IF)
522/297 INF-R 2609 (IF) 202/75 INF-R 501 (IF)
514/294 INF-R 2307 (IF) 172/75 INF-R 304
515/294 INF-R 2106 (IF) 417/168 INF-R 104
513/294 INF-R 1905 (IF) HQ XXIX, Art./XXIX 404
429/168 INF-R 1705 (IF) 1,2 Art./6A Kharkov (Charkow)
211/71 INF -R 2008 (IF) 3ARM, 23 ARM  Kharkov (Charkéw)
Reinforcements:
13V - 20 INF (Romanian) D 17V -57 INF Kharkov (Charkéw)
15V - 577, 578/305 INF-R 2319 17 V - Art./1 APanc. A
15V - 576/305 INF-R 3131 17V - Art./17 A C
16 V - 3, 6 MOT-R (Bers.) (Italian) D 17 V - 389 INF A
16 V - 100/100 MOT-R B 17V -60 MOT C
16 V - 97/97 MOT-R A 17V - 16 ARM A
16 V - 384 INF A 18 V - 210 AG-B(StuG) A
16 V - 101 INF (light) A 25V - 22 ARM B
16 V - HQ X1V, art./X1V, 14 ARM C 26 'V - 295 INF A
17V - 88 INF P
Soviet Setup

9 Army 393 INF. 4122 (FF)
HQ, Art. 5410 VI CAV (26, 28, 49) 4520
78 INF-BR 5700 (IF) I1 CAV (38, 62, 70) 4718
333 INF 5702 (IF)
ARM-BR (GPanc.) 5603 (FF) 6 Army
V CAV (34, 60, 79) 5403 (FF) HQ, 37 ARM-BR 3915
51 INF 5904 (IF) 248 INF 3921(FF)
335 INF 6105 (IF) 411 INF 3618(FF)
349 INF 6107 (IF) 253 INF 3517(FF)
106 INF 6010 (IF) 41 INF 3515(FF)
341 INF 6013 (IF) 266 INF 3820

1 Art. 3919
57 Army 38 ARM-BR 4019
HQ, Art., 14 INF 5320 5 ARM-BR 3617
351 INF 6015, 6017 (IF) 48 ARM-BR 3616
99 INF 6019, 6021 (IF) 3 Art. 3514
317 INF 5822, 5523 (IF) 47 INF 3513
150 INF 5324, 5024 (IF) 2 Art. 3716

103 INF 3815
Bobkin Group 337 INF 3811
HQ, Art. 4321 XXI ARM (64, 198, 199) 4114
270 INF 4723 (FF)
7 ARM-BR 4423 (FF)
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38 Army

HQ 2302
XX ARM (6, 130, 131) 4216
343 INF 4103
304 INF 3907, 3705 (FF)
199 INF 3404, 3003 (FF)
277 INF 3401
300 INF 2405
81 INF., 133/XXIl ARM-BR 2306
124 INF., 13/XXIl ARM-BR 2206
2 art. 2205
226 INF, 36/XX1l ARM-BR 2105
51/XXI1 MOT-BR 2104
1 Art. 2104
28 Army

HQ 2000
6 ARM-BR 2301

Reinforcements:

13V - 11l CAV (28 Army) R
18 V — ARM-R (GPanc) (with yellow star) T
18V - 296 INF, 3 ARM-BR (37 Army) T
19V - 242 INF, 114 ARM-BR S
23V - 278 INF S
23V - 156 ARM-BR, 168 ARM-BR S

Air Support (SPs)

Germans | Soviets |
12V - 8
13V 3 7
14V 4 6
15V 5 5
16 V 6 4
17V 10 3
18V 12 2
19V 12 2
20V 13 -
21V 13 -
22V 14 -
23V 14 -
24V 14 -
25V 14 -
26V 13 -
27V 13 -
28V 13 -

162 INF. 2202
1 Art. 2004
2 Art. 1903
3 Art. 1803
13 INF, 90 ARM-BR 2005
244 INF, 57 ARM-BR 1904
169 INF, 84 ARM-BR 1804
175 INF 1704
38 INF 1801
21 Army

HQ, Art. 1601
227 INF, 10 ARM-BR 1603
293 INF 1502
76 INF 1301 (FF)
301 INF 902 (FF)
297 INF 700 (FF)
26 V — XXIV ARM (2, 4Gw., 54) T
26 V - 216, 102, 255, 347 INF SorT
218, 230, 275, 295 INF, Art./37 A T

(1 unit per turn after Germans captured Izjum)

German strategic victory is achieved
when there is no supplied Soviet unit on the
Western part of Doniec (excluding hexes
4804 and 4904).

Soviet strategic victory is achieved for
capturing 5 or more hexes of Kharkov.

Tactical victory:

Victory Conditions

1 VP is earned for control over each of the
following hexes: 4909, 5022, 4804, 3322,
2915, 2319, 3132, 713, 2609, 2008, 1705,
1410, 1306.

Player with higher number of VVPs wins the
game by tactical victory.
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Kharkov 1943

(historical scenario)

Soviet offensive has diminished and now all the corps were retreating. They were
followed by German’s elite SS and Wehrmacht panzer corps. Red Army’s loses were
tremendous, but not from direct combat but due to lack of proper logistics. Hundreds of
Soviet tanks laid down on Ukrainian steppes.

Germans were moving towards Kharkov in hope to capture huge Soviet stockpiles of
this major supply base. Axis intelligence was correct. The whole city was one tremendous
stock house of fuel, ammo and food gathered by the Red Army for the last month. Who could
predict that so soon after Stalingrad defeat the Soviet tanks will be not the hunters but the
prey? Orders were given to defend the city for every cost it required.

The most embarrassing fact was that it would be very inconvenient to admit that one
of the major Soviet cities was lost again after its liberation was triumphantly announced just a
few weeks ago. Extended fight at extreme low temperature started.

Scenario Notes
= Scenario starts on February 24™ and ends on March 17" 1943. (22 turns).
= Initiative (moves first): Germans.

Supply
= Germans: Western and Southern edge of the map.
= Soviets: Eastern edge of the map and Kharkov.

German Setup

3 ARM 6303 106/15 INF-R 5734
228 AG-B (StuG) 6303 2 ARM SS 6131, 5830, 5530
HQ 111, Art./lI 6403 HQ LVII, Art./LVII 5732
681/333 INF-R 6409 203 AG-B (StuG) 5732
11 ARM 6309 3 ARM SS 5330,5231,4931,4630
7 ARM 6214 1 ARM SS 3828,3528,3229,
HQ XXXX, Art./XXXX 6414 2929,2728,2726
243 AG-B (StuG) 6315 HQ 11 SS, 1 Art./1l 3032
680/333 INF-R 6416 AT-B (Flak) 3131
5 MOT SS 6217, 6218 11 INF-R SS (-1 CEL) 3132
679/333INF-R 6423 320 INF 2425, 2125, 1926
17 ARM 6420 MOT-R ,,Thule”/3 ARM SS 1829
HQ XXXXVIHI, Art/ XXXXVIII 6423 10 INF-R SS (-1 CEL) 1831
6 ARM 6326 HQ Raus 1732
81/15 INF-R 6432 167 INF (-2 CELs) 1431, 1332, 934
88/15 INF-R 5831 168 INF (-1 CEL) 634, 335, 135
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Reinforcements:

13V -ARM GD H 13V -75INF Krasnograd
13V -19 ARM C
Soviet Setup

40 Army 172 INF 3427
HQ 123 6 INF 3627
309 INF 133 106 INF-BR 4026
116 ARM-BR (-1 CEL) 1128 | CAV (1 Gw., 2 Gw., 7Gw.) (-3 CELs) 4319
192 ARM-BR (-1 CEL) 530

1 Guards Army
69 Army HQ 5022
HQ 824 58 INF 5023
219 INF 423 35 INF, 267 INF (-1CEL) 4928,4929
180 INF 733 44 INF 6015
161 INF 932 1, 15Gw./I G ARM-BR 5230
270 INF (-1 CEL) 825 16Gw., 17Gw./l G ARM-BR 5529
37 INF-BR 1231 244 INF 5829

XXV ARM (16, 111, 162, 175) (-4 CELS)
3 Armored Army 6229, 6329
HQ 1916 41 INF 6027
160 INF 1429 10 INF-BR (ski) 5923
25 INF 1627 5 INF-BR (ski) 6021
305 INF 1825 195 INF 5918
XII ARM (-1 CEL) 2024
XV ARM (-1 CEL) 2024 Popow Group
179 ARM-BR 2014 HQ 5509
62 INF (-1 CEL) 2016 1l ARM (-1 CEL) 5916
48 INF 2423 X ARM (-1 CEL) 5812
111 INF 2624 XVIII ARM (-1 CEL) 5812
VI CAV (-1 CEL) 2825 IV Gw. ARM 5611
201 ARM-BR (-1 CEL) 2825 52 INF 6010
184 INF 3026 7 INF-BR (ski) 6008

38 INF 5905
6 Army 57 INF Stawiansk
HQ 3620 ARM-BR (GPanc.) (-1 CEL) Stawiansk
350 INF 3227

Reinforcements:
27 11 - 263 INF S 911l - 137 ARM-BR(-1CEL)
1111 - 20 INF T Kharkov (Charkéw)
3 111 - 229 INF-BR T 12 111 - 1 ARM (4, 4 Gw., 25 Gw., 26 Gw.) Q
5111 -152 INF S 12 11 - 111 ARM (2,3 Gw., 18 Gw., 19 Gw.) P
7 111 - 100 INF, 107 INF, 183 INF, 13 111 - 113 INF R
340 INF, V ARM M 18 111 - 15 INF R

8 111 - 19 INF, 303 INF, 86 ARM-BR, 18 111 - 253 INF-BR R

17 MOT-BR (NKWD)
Kharkov (Charkéw)



Air Support (SPs)

Victory Conditions

32 :: g g German strategic victory is achieved when
Kharkow  (Charkéw) and  Bielgorod

27 11 9 2 (Bietgorod) are captured at any moment of

281l 9 2 the game.

1111 9 2

211 9 2 Soviet strategic victory is achieved for

31 9 2 holding Kharkov, Bielgorod and Izjum till

4 111 9 2 the end of the game

5111 9 2

6111 10 2 Tactical victory:

71m 10 2 1 VP is earned for control over each of the

8 111 10 2 following hexes: Stawiansk (all hexes),

911l 10 2 4804, 2915, 2609, 718, 2319, 1820, 3413,

10 111 9 2 2104, 1410, 713.

11 111 9 2

12 111 9 2 Player with higher number of VVPs wins the

13 111 9 2 game by tactical victory.

14 111 8 2

15 111 8 2

16 111 8 2

17 11 8 2
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Black Snow

(historical scenario)

Germans was just at the gates of Kharkov. Just a few days and the great success will
be announced. German tanks were pushing forward destroying every defenses on their way...

Meanwhile Soviets shook off the shock and begin to reorganize. New strategic
defensive line on Doniec river was being created. Still, west of Kharkov the offensive was
being carried out. STAVKA still believed that Red Army can regain the initiative and destroy
German spearheads. Was this plans feasible?

Scenario Notes
= Scenario starts on March 5™ and ends on March 21 1944. (17 turns).
= Initiative (moves first): Germans.

Supply
= Germans: Western and Southern edge of the map.
= Soviets: Eastern edge of the map and Kharkov.

German Setup

3 ARM (-3 CELs) 6002 3 ARM SS (-2 CELs)
HQ IH1, Art./lII 5901 3120, 3222, 3323
333 INF 5900, 5502, 5203 2 ARM SS (-2 CELs)
7 ARM (-3 CELs) 4904 3324, 3125, 2924
228 AG-B (StuG) 5006 1 ARM SS (-2 CELs)
5 MOT SS (-3 CELs) 2725, 2627, 2429
4907, 4909, 4711, 4410 ARM GD 2331, 2232
HQ XXXX, Art/XXXX 5010 MOT-R ,,Thule”/3 ARM SS 2332
15 INF (-2 CELs) 4308, 3910, 3513 11 INF-R SS (-1CEL) 3122
17 ARM 3017 AT-B (Flak) 3131
6 ARM 3019 10 INF-R SS (-1 CEL) 2036
243 AG-B (StuG) 3218 HQ I1SS, 1 Art./Il 2629
HQ LVII, Art/LVII 3218 HQ Raus 1935
11 ARM 3420 320 INF 2033, 1934, 1635
203 AG-B (StuG) 3421 167 INF (-2 CELs) 1435, 1236

HQ XXXXVIHI, Art/ XXXXVIII 3421

Reinforcements:
10 111 - 75 INF Krasnograd 16 111 - 19 ARM (-2 CELs)  Krasnograd
16 111 - 168 INF (-2 CELS) 936

43



Soviet Setup

1 Guards Army

HQ 3406
57 INF (-1 CEL) 5400
229 INF-BR 5102
195 INF (-1 CEL) 4803
Popow Group

HQ 4901
38 INF (-1 CEL) 4703
52 INF (-1 CEL) 4704
44 INF (-1 CEL) 4505
20 INF 4106
XVII ARM (-1 CEL) 4700
263 INF 3809
I CAV (-3 CELs) 3710
6 Army

HQ 2609
267 INF (-1 CEL) 3413
6 INF (-1 CEL) 3214
106 INF-BR (-1 CEL) 3110
152 INF 3015
25 INF (-1 CEL) 2915
350 INF (-1 CEL) 2818
62 INF (-1 CEL) 2820
253 INF-BR 2721
48 INF 2425

Reinforcements:

6 111 -179 ARM-BR (-1 CEL)

Kharkov (Charkéw)
7 111 - 100 INF, 107 INF, 183 INF,
340 INF, V ARM M

8 111 - 19 INF, 303 INF, 86 ARM-BR,
17 MOT-BR (NKWD)
Kharkov (Charkéw)

44

111 INF (-1 CEL) 3224
35 INF (-1 CEL) 2616
219 INF (-1 CEL) 3224
184 INF (-1 CEL) 3224
3 Armored Army
HQ 2016
305 INF 2326
160 INF 2229
180 INF 2031
37 INF-BR 1832
161 INF 1333
309 INF 935
X1l ARM (-1 CEL) 2523
XV ARM (-1 CEL) 3123
40 Army
HQ 132
116 ARM-BR (-1 CEL) 534
270 INF (-1 CEL) 1928
192 ARM-BR (-1 CEL) 1532
69 Army
HQ 1626
172 INF (-1 CEL) 3123
9111 -137 ARM-BR (-1 CEL)

Kharkov (Charkow)
12 111 - 1 ARM (4, 4 Gw., 25 Gw., 26 Gw.) Q
12 11 - 111 ARM (2,3 Gw., 18 Gw., 19 Gw.) P
13 111 - 113 INF R
18 111 - 15 INF R



Air Support (SPs) Victory Conditions
: German strategic victory is achieved when
—_5 i Gerans SOEtS Kharkow  (Charkéw) and  Bielgorod
(Bietgorod) are captured at any moment of
6111 10 2 the game
711 10 2 '
8 1l 10 2 Soviet strategic victory is achieved for
91l 10 2 holding Kharkov, Bielgorod and Izjum till
10111 9 2 the end of the game
11 111 9 2
1211 9 2 Tactical victory:
13 111 9 2 1 VP is earned for control over each hex of
14 111 8 2 the following cities: Kharkov, Bielgorod,
15 111 8 2 Zmijew (2815, 2915), Czugujew (2609),
16 111 8 2 Achtyrka (132, 133), Kazaczaja Lopan
17 111 8 2 (713), Bogoduchow (824, 825), hex 2104.
18 111 7 2
19 111 7 2 Player with higher number of VPs wins the
20 111 7 2 game by tactical victory.
21 111 7 2

45



